normalized X?

107}

1072

[ normalized x? probability |

chiz chiz_prob
Entries 539 Entries 539
Mean 1.097 - | Mean 0.4869
Std Dev 0.6809 Std Dev 03137

chiz R Shiz_pro
Entries 541 Entries 541
Mean 1.097 Mean 0.4865
Std Dev 0.6801 | Std Dev 3139

T T 0.04 ——

1073k
E 0.03]
107F
0.02
|
10°F 00 ;
: : T \ I
: o SRR R
JEEREEBEEREE. = |
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
X? Prob(x?)
20 : g E
=] r ~ F
c F N A 4AF
ZoagfFeeeae)- Peeeen FRP S Peeaes E
% F : o aF
v 16k -
L I o % 1 1
1.4~ | m=== DQM_v0001_R0O00000001_ Global_mkFit_original =
12:_ m———= DQM_V0001_RO00000001_ Global_ mkFit_pless ==
B
2 iHe { [H """ o
osf RER 111 S S af-
08 TR S e “F :
1 cE Il 1
o | . 8 ™9 !
3 ! : T
@ A . o
! i 1
095 0 1 2 3 08z 1 0 1 3
n TP n (PCA to beamline)
A A E
2 2 18fF-
% < 1.6F-
v v E
1.4F-
1.2F
-
0.8F-
0.6F
0.4F
; 0.2F
o R 4 o GF
© T
x @
... osf
o 1(l)2 0 10° 1072 107
&T AR(track, jet?
g % : :
A 3 N
(S| SRRRREE BRREN R R EERREEEEEEEEE
o ¥ ¥
o .
el 3 """ :" """""""
v .




	Contents
	Page 1


